I-116.1

A Procedure For Offsetting Curves

Quite often, it is desirable to offset a curve from its planned locationm,
stake berms or

rerhaps to set stakes avay from copstruction areas, to
excavation lines, or perhaps due to the planned centerline’s being in an

existing channel.

The following method for offsetting & curve mkes 1t unnecessary to
compute new curve data, deflection angles, etc. By using a shorter {or
longer) chord length an offset curve can be staked vith very little

field computation. Offset chord lengths can be determined by a simple
Also, the basic stationing of the

formula or by the attached tables.
planned cepterline is not changed and the original curve data is used in

staking. .
Using the following formula, the offset chord length can be determined
for any offset distance.

Offset chord = 100 + 2(sim gx offset distance)

(Kote: This particular formuls applies only to @ basic chord
of 100 feet. For & besic chord of 50 fget, the _
formula 1s: Offset cbord = 50 # 2(sin X offset distance)

Example: D = 5 degrees. Find offset chord length for 757 offset to inside.
oftset chord = 100 - 2(sin 2° 30* x T5)
. = 100 - 2(0.04362 x T5)
= 100 - 6.5% or 93.46 feet

stake the curve in the normal menner, beginning

Using this chord length,
t0 instruct the chaipman to use

at the offset P. C. The only change 1s
93.46 feet instead of 100 for the chord length. The stations will be

marked on the stakes as if 100 bad been used, since the planned center-
line 15 the one to be used for coaputing grades, guantities, etc. Any
"odd” chord length would be shortened in the sase ratio.

The attached tables give the correction factor for 100-foot basic lengths
for various offsets normally encountered and for D" from 1 degree to

8 degrees in 10-minute increments. Chords for other offsets can be
computed from the tables by siaple addstion of 2 or more values. Far
example, correction for offset of 65 feet wounld be 5.23 (from table

for 50 feet) plus 1.57 (from table for 15 feet) or 6.80 feet for a

6 degree curve.
The P. T. should always be checked by some other means (tangent distance,
baseline, etc.) to be sure alignment is correct. Also, tbhe "chord” method
of staking curves is not exactly correct since the chord is alvays
shorter than the curve length. Also, it 18 suggested the "D" for a curve
be selected at an even increment, such as those in the tadles.
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